
**Coterminal Angles in standard position 
have the same terminal side.  They can be 
expressed as  ± 360(n)  or   ± 2(n)

Reminder from notes 6.1



NOTES 6.3 Finding the area of a triangle when 
base and height are not given:  

A

1
sin

2
A ab



Notes: Reference Angle the acute angle 
formed by the X-AXIS and the terminal side 
of a given angle. 0 360   

QUADRANT REFERENCE ANGLE
(DEGREES)

REFERENCE ANGLE
(RADIANS)

I  

II 180     

III  180   

IV 360   2  

0 2  



Some trig ratios will be negative if the 
triangle is in Quadrant II, III, or IV

Quadrant II values

sinθ =

cosθ =

tanθ =

r

Notes 6.3:



Notes: 6.3 Values of the trig functions 
in all quadrants

sin = +

cos = +

tan = +

sin = +

cos = -

tan = -

sin = -

cos = -

tan = +

sin = -

cos = +

tan = -

III

III IV

csc = +

sec = -

cot = -



III

III IV

Notes
Determining quadrants for angles in radians:
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Find the values of the 6 trig functions 
of  from the information given.

48.
4

3
  tanθ =  , θ in Quadrant III



Find the reference angle for the given angle:

( ) ( ) (5 ).       120              200              285              a b c



Find the reference angle for the given angle:

(6. ( ) ) ( )a b c      175          310           730              

0 360    0 2  



6. ( ) ( ) ( )      5               50               10a b c

8. ( ) ( ) ( )      81              19               1a b c

2
10. ( ) ( ) ( )

6 9 7

  
                                     a b c

CHECK EVEN ANSWERS



The following diagrams may 
help you solve the word 

problems from yesterday’s 
work (6.2 part 2)



22





23







See 
notes 6.1 

for arc length 
equation


